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NEW QUESTION 1
An administrator has observed an alert message in the vSphere UI related to a host's storage sensor hardware. Where should the administrator look for more
information related to this alert?

A. Menu > Lifecycle Manager > Baselines
B. Host > Monitor > Skyline Health
C. Host > Monitor > Hardware Health > Storage Sensors
D. Host > Monitor > Hardware Health > System Event Log

Answer: D

NEW QUESTION 2
An administrator would like to add a new server into an existing vSphere cluster. The servers are running Intel processors. The administrator needs to ensure that
the new server can be added to the cluster with the same processor baseline as the existing servers.
Which strategy should be used to achieve this goal?

A. Fault Tolerance
B. Enhanced vMotion Compatibility
C. vSphere vMotion
D. vSphere High Availability

Answer: B

NEW QUESTION 3
A vSphere operator can only configure up to two virtual CPUs when deploying a new virtual machine (VM). Refer to the exhibit:

What is the cause erf this situation?

A. VMs support a maximum of 2 CPUs.
B. The selected cluster is not in DRS mode.
C. The selected ESXI host has only 2 CPUs.
D. The compatibility selected is "ESXi6.5 and later".

Answer: C

NEW QUESTION 4
Which two storage protocols can a virtual infrastructure operator use to create a VMFS datastore? (Choose two.)

A. Fibre Channel
B. NFS
C. iSCSI
D. CIFS
E. SMB

Answer: AC

NEW QUESTION 5
An administrator needs to upgrade the guest operating system installed in a virtual machine. The administrator wants to safely ensure that the selected operating
system is supported by ESXi. Which action should the administrator take to meet this goal?

A. Perform a guest OS and product search In the VMware Compatibility Guide.
B. Look in the guest OS version drop-down menu of the VM.
C. Snapshot the VM before performing the operating system upgrade.
D. Check the web page of the guest operating system vendor.

Answer: C

NEW QUESTION 6
An administrator is asked to copy a single hard disk from one datastore to another. Which virtual machine Hie type should the administrator select?

A. vmdk
B. vswp
C. vmx
D. vmss

Answer: A
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NEW QUESTION 7
An administrator needs to separate traffic of virtual machine live migrations from all other traffic. Which TCP/IP stack meets this requirement?

A. Fault Tolerance logging TCP/IP stack
B. Provisioning TCP/IP stack
C. vMotion TCP/IP stack
D. Management TCP/IP stack

Answer: C

NEW QUESTION 8
Which configuration setting prevents a packet sniffing program from analyzing network packets on the virtual switch?

A. Promiscuous Mode set to Reject
B. Promiscuous Mode set to Accept
C. Forged Transmits set to Accept
D. Forged Transmits set to Reject

Answer: A

NEW QUESTION 9
Which feature must be enabled to use vSphere Fault Tolerance?

A. vSphere DRS
B. vSphere Replication
C. vSphere HA
D. vSAN

Answer: C

NEW QUESTION 10
Which vSphere feature protects against host hardware failures by restarting virtual machines (VMs) on hosts that are running in the cluster?

A. vSphere HA
B. vSphere vMotion
C. vSphere Fault Tolerance
D. vSphere DRS

Answer: A

NEW QUESTION 10
Which feature must be enabled to configure vSphere Proactive HA?

A. vSphere DRS
B. Cluster EVC
C. Fault Tolerance
D. vSphere HA

Answer: C

NEW QUESTION 11
Refer to the exhibit:

Which statement Is true about the access privileges of User 2?

A. User 2 has virtual machine power user privileges to Prod04-3.
B. User 2 has no access to all objects in the Production folder and Test and Dev folder.
C. User 2 has virtual machine power user privileges to all VMs In the Production folder.
D. User 2 has access to all objects in the Production folder and no access to Dev01, Dev02, and Dev03.

Answer: A

NEW QUESTION 13
An administrator is migrating 100 virtual machines from one ESXi Host to another. The current lGigE network cards are only migrating four virtual machines
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simultaneously.
Which action should the administrator take to increase that number to eight?

A. Add more memory to the ESXI hosts
B. Add a lOGIgE network card to each ESXI host
C. Configure port mirroring
D. Configure Load Balancing

Answer: C

NEW QUESTION 15
Which event type indicates a Fatal problem has occurred in the system, and the process or operation will be terminated?

A. Information
B. Audit
C. Error
D. Warning

Answer: D

NEW QUESTION 18
A vSphere administrator has migrated a virtual machine between two ESXi hosts using vSphere vMotion and notices that the VM can no longer be pinged.
What caused this situation?

A. The virtual machine has RDMs attached.
B. A different datastore is being used after the migration.
C. There is an MTU mismatch.
D. The destination portgroup has an incorrect VLAN tag.

Answer: D

NEW QUESTION 19
A system administrator opened a technical support trouble ticket and was asked to provide the suspended virtual machine's memory contents.
Which file from the virtual machine directory will the system administrator need to upload to technical support?

A. vm.vmdk
B. vm.vmss
C. vm.vmx
D. vm.log

Answer: C

NEW QUESTION 24
Which file system protocol is supported by vSphere?

A. NFS
B. iSCSI
C. SAN
D. vSAN

Answer: A

NEW QUESTION 29
What is a benefit of VMware vSphere Storage APIs - Data Protection?

A. It enables centralized, off-hos
B. LAN-free backup of vSphere virtual machines.
C. It allows backup of a virtual machine with a backup agent in the guest OS.
D. It increases ESX host resources to do backup processing.
E. It facilitates decentralized, on-host, LAN-free backup of vSphere virtual machines.

Answer: A

NEW QUESTION 33
......
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